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HISTORY
( Major )

Paper : 4.2
( History of Europe : 1453-1789 )

Full Marks : 80
Time : 3 hours

The figures in the margin indl:cate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x10=10
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(a) What was a fief’?
‘g’ e 52
(b) Which city of Italy became the centre of

new learning after the fall of
Constantinople?
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(2) (3)

(c) Who was the author of The Prince? (i) Name the treaty by which the Black Sea

The Prince fFeama e o 2 was converted to Russian Lake.
(TR P& 7/l FETEF MR Jeel TS

(d) To which country did Mazarin originally 71 e 2
belong? ;
. () Who was Gustavus Adolphus?
&l CPHIA I =15 2
CTHIRT S e B[S GO (R SR ?
(e) Why is the Thirty Years War regarded as
the most important war in the history of 2. Answer in brief (any five) : 2x5=10
Europe? e ©ed fra (R creen #fiod) -
WA Yo fPRRIN TEe 9"
¥ Ta I =2 (a) What was .the ‘Pragmatic Sanction’?

‘Pragmatic Sanction’ & Sfez 2
()  Which King of Prussia is known as the 5

Great Elector? (b) Mention two features of feudalism in
AT ST 9T Great Elector 3 &l Europe. ;
M 7 S G Ko1 [Heme T\s 3647 |

() Mention any two significant outcomes of
the occupation of Azov by Peter the Great
from the Turks. '
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(g9 In which year was the Treaty of the
Pyrenees signed?

(h) Who was the King of Poland at the time of

its first partition? (d) What do you understand by Enlightened
CEAST gy R S [WR | @y Despotism? Mention any two enlightened
(fRer 2 despots of the 18th century in Europe.
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of the
3. Write) (shoniifctMoalien B er RGN E 0
following : ’
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{e) Who were the participants in the War of

: f Nantes
(a) Edict o
Devolution (1667-68)?

What was the

fS3 o@ CH
reason behind this war?
War of Devolution (1667-68) o (e (b) Fronde
m:mﬁ%wi%%mf%%? e
(f/ Name the artistg of the followmg works : (c) Liberum Veto
() Madonng
ISR (d) Zingli
1 et
() The Last Judgement Lt i 1774
1,
fiox B (e) The Treaty of KuchkiKenpar
8
<2 o, a9
i ycl;i‘cl){s‘;’ere the authorg of the following wT
‘ e f Poland
ird partition 0
TR i () The thir
il Cﬁ?@‘q g ‘@’%’
(ir) On the

(g) Rousseau
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(4) (S

WG CTRbIRS] A & @2 sv =fowm 3. Write short notes on any four of the
AR R @I & BTG TR 754 following : 5x4=20

giban oot R GG SRR @@ 57 (il o

(e) Who were the participants in the War of

Devolution (1667-68)? What was the (a) Edict of Nantes

reason behind this war? 2 =@ ACs
War of Devolution (1667-68) (¥ (19
O e (2f2 7 2 Jad FRC e 2 (b) Fronde
RIIAL
(f) Name the artists of the following works :
o PEea Fiteeem e fE= (c) Liberum Veto
(i) Madonna CEIR RS
CHCSIA]
(i) The Last Judgement _ (d) Zingli
W (B s et
(g) Who were the authors of the following () The Treaty of Kuchuk Kainasji, 1774
works?
I AR R G 2 sTR R
(i) The Praise of Folly () The third partition of Poland
oRcECR R e O T
() On the Revolutions of the Celestial
Bodies (g) Rousseall
o [AefehTR B[ W otefece afee w5
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4. Answer any four of the following : 10%x4=40
@] & e oAb T fra

(@) What were the causes of the Renaissance
and what were its results?
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(b)) Why was the Counter-Reformation
Movement started? What was its impact
on Europe?
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(c) Determine the causes and significance of
the geographical discoveries.,
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31 |

(d) “If Henry IV was the main architect of
Bourbon France, then Richelieu was the
master mason.” Discuss,
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(¢) What policies did Colbert adopt to
improve the economy of France?
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(7))

Give an estimate of Catherine II as a true
follower of Peter the Great.
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What was the impact of the development
of capitalism on the society of Europe?
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